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1
1.1
sample5
1.1.1
[ 9.81]
1.1.2
Ae
mv
Cc
v =0.45
1.1.3
@
e
: 3000
2
1.2
() N 5
®
No
1
2
3
4
5
Cv
No (kNxm;[) Ce Cs (kN/mgg () |
1 14.400 | 1.0000 | 0.1000 0.0 | 300.0| 1.00
2 5.200 | 1.0000 | 0.1000 0.0 | 300.0| 1.00
3 5.200 1.0000 0.1000 0.0 300.0 1.00
4 5.200 | 1.0000 | 0.1000 0.0 | 300.0| 1.00

FORUMS8



Cv
No (kNym% te Cs (kN/mgg ¢y |«
5 5.200 | 1.0000 | 0.1000 0.0 | 300.0| 1.00
©) ( )
Cv
No (kﬁ/ﬁ%‘ Ce Cs (kN/mgg ¢y |«
1 12.110 | 1.0000 | 0.1000 0.0 | 30.0| 1.00
2 15.010 | 1.0000 | 0.1000 0.0 | 30.0| 1.00
3 15.010 | 1.0000 | 0.1000 0.0 | 300.0| 1.00
4 15.010 | 1.0000 | 0.1000 0.0 | 30.0| 1.00
5 15.010 | 1.0000 | 0.1000 0.0 | 30.0| 1.00
* Cv a Ch
Ch = Cv

FORUMS8




® ( 2 m)
1 1( 2 2( 3( 4(

-50.000 3.000 2.000 0.000 5.000 0.000 5.000
-26.471 3.588 0.000 0.000 6.412 0.000 5.000

0.000 2.000 0.000 2.250 5.750 0.000 5.000
30.000 5.000 0.000 0.000 5.000 0.000 5.000
40.000 5.250 0.750 0.000 4.000 5.000 0.000
60.000 5.750 2.250 0.000 2.000 5.000 0.000
86.471 6.412 0.000 0.000 3.588 5.000 0.000
110.000 5.000 0.000 2.000 3.000 5.000 0.000

5(

-50.000 5.000
-26.471 5.000

0.000 5.000

30.000 5.000

40.000 5.000

60.000 5.000

86.471 5.000
110.000 5.000

FORUMS8




(5) e logP
P :
e

[1]

(KN/m?)

1.75

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.570

2.500

2.480

2.400

2.200

2.100

1.700

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.100

2.000

1.990

1.900

1.800

1.600

1.500

FORUMS8



[ 5]

2.1

2.05

1.95

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.100

2.000

1.990

1.900

1.800

1.600

1.500

(6) e logP
P
e

[ 1]

(KN/m?)

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

4.640

4.500

4.300

4.200

3.800

2.800

2.000

FORUMS8



[ 4]

2.1

2.05

1.95

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.100

2.000

1.990

1.900

1.800

1.600

1.500

100

5

6

7

10.000

20.000

40.000

80.000

100.000

200.000

500.000

2.100

2.000

1.990

1.900

1.800

1.600

1.500

FORUMS8



(7) logmv logP
P : (kN/m?)
mv : (m*/kN)
[ 1]
i 1
P 10.000
mv 0.0008530
[4]
i 1
P 10.000
mv 0.0007210
[ 5]
i 1
P 10.000
mv 0.0007210
(8) logmv logP
P : (kN/m?)
mv : (m?/kN)
[1]
i 1
P 10.000
mv 0.0017300
[ 4]
i 1
P 10.000
mv 0.0007210
[ 5]
i 1
P 10.000
mv 0.0007210
(9) logCv logP
P : (kN/m?)
Cv : (cm’/day)
[ 1]
i 1
P 10.000
Cv 86.4

FORUMS8



[4]
i 1
P 10.000
Cv 171.9
[ 5]
i 1
P 10.000
Cv 171.9
(10) logCv logP
P : (kN/m?)
Cv : (cm’/day)
[ 1]
i 1
P 10.000
Cv 43.2
[4]
i 1
P 10.000
Cv 171.9
[ 5]
i 1
P 10.000
Cv 171.9

FORUMS8




1.3
€Y 3
@
[ 1]
L
No. () (m) (m) (m) (m) m | C) (m (kN/m)
-30.000 | 120.000 |  10.000 10.000 5.000 |  5.000 | 30.00 0.000 10.000
[ 2]
L
No. (m (m (m (m (m m | C) m (kN/m)
-20.000 | 100.000 |  10.000 10.000 5.000 |  5.000 | 30.00 2.000 10.000

FORUMS8




- 10 -

[ 3]
L
No. m (m (m m m m | C) m (kN/m)
-10.000 80.000 10.000 10.000 5.000 5.000 | 30.00 0.000 10.000

FORUMS8
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1.4
X
No. (m)
1 30.000
2 50.000

FORUMS8
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1.5
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®
©
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1.5.2
@
(
0.000 0.000
(
-50.000 110.000
@
[ 11
5.000 5.000
No
1 0.000 2.000
2 60.000 8.000
[ 21
10.000 10.000
[ 31
10.000 15.000
No
1 40.000 10.000
2 40.000 15.000
[ 41
15.000 15.000
[ 51
20.000 20.000

FORUMS8
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®

3.000

7.000

FORUMS8
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1.6

[P*+ P*/2] mv
[V P™*(P"+ P")] Cv
[ 1

FORUMS8
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2.1
2.1.1

1

Lx = 30.000 (m)

@
P:
No. : (UpP ,DN )
(m
Y (kN/m*)
PO (kN/m?)
p
No H y >y H2 y H/2Z PO ,
(m) (N/m?) | (kN/m?) | (kNZm?) | (kN/mD) 1 2 3
(KN/m?) | (KN/m?) | (KN/m?)
1|UP 5.000 | 14.400 | 72.000 36.000 36.000 48.597 68.348 116.053
2 [DN 5.000 5.200 | 98.000 13.000 85.000 46.015 54.479 98.173
3 | DN 0.000 5.200 | 98.000 0.000 98.000 0.000 0.000 0.000
4 | DN 5.000 5.200 | 124.000 | 13.000 111.000 | 43.693 48.848 89.153
5[DN 5.000 5.200 | 150.000 | 13.000 137.000 | 41.595 45.190 82.593

FORUMS8




- 17 -

@ e
el — el
= — v H e e e e ( c0 > cl)
1 + eo
el PO q0
el PO+ P
uP
DN
1
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1]UP 5.000 2.4830 2.3499 0.1331 0.0382 0.191
2 | DN 5.000 0.000
3| DN 0.000 0.000
4 | DN 5.000 1.7699 1.6741 0.0958 0.0346 0.173
5 | DN 5.000 1.7092 1.6327 0.0765 0.0282 0.141
2SS 0.505 m
2
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1| UP 5.000 2.4830 2.1939 0.2892 0.0830 0.415
2 | DN 5.000 0.000
3 | DN 0.000 0.000
4 | DN 5.000 1.7699 1.6647 0.1052 0.0380 0.190
5| DN 5.000 1.7092 1.6269 0.0823 0.0304 0.152
2ZS 0.757 m
3
e — el
No. H(m) e0 el e0-el 1 + eo (m
1| UP 5.000 2.4830 2.1395 0.3435 0.0986 0.493
2 | DN 5.000 0.000
3 | DN 0.000 0.000
4 | DN 5.000 1.7699 1.5999 0.1700 0.0614 0.307
5 | DN 5.000 1.7092 1.5898 0.1194 0.0441 0.220
2SS 1.020 m

FORUMS8
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3)mv
S=nmv (PO+ P-P") H
mv P* + P"/ 2 AP" PO AP P
P PO qO
UP
DN
1
No. H(m) mv(m*”/kN) PO+A P-P* (kN/m*) (m
1]UP 5.000 0.00085 48.597 0.207
2 | DN 5.000 0.000
3 | DN 0.000 0.000
4 | DN 5.000 0.00072 43.693 0.158
5 | DN 5.000 0.00072 41.595 0.150
2SS 0.515 m
2
No. H(m) mv(m’/kN) PO+A P-P* (kN/m?) (m
1]UP 5.000 0.00085 68.348 0.292
2 | DN 5.000 0.000
3 | DN 0.000 0.000
4 | DN 5.000 0.00072 48.848 0.176
5| DN 5.000 0.00072 45.190 0.163
2SS 0.631 m
3
No. H(m) mv(m’/kN) PO+A P-P* (kN/m?) (m
1|UP 5.000 0.00085 116.053 0.495
2 | DN 5.000 0.000
3| DN 0.000 0.000
4 | DN 5.000 0.00072 89.153 0.321
5 | DN 5.000 0.00072 82.593 0.298
2SS 1.114 m

FORUMS8
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(4)Cc
B Ce
1 + e0
pr
UP
DN
1 PO + AP
No. H(m) Cc e0 O8I (m)
1]UP 5.000 1.0000 2.4830 0.37105 0.533
2 | DN 5.000 0.000
3 | DN 0.000 0.000
4 | DN 5.000 1.0000 1.7699 0.14415 0.260
5 | DN 5.000 1.0000 1.7092 0.11515 0.213
2 S 1.005 m
1 PO + AP
No. H(m) Cc e0 O8I (m)
1/|UP 5.000 1.0000 2.4830 0.46218 0.663
2 | DN 5.000 0.000
3 | DN 0.000 0.000
4 | DN 5.000 1.0000 1.7699 0.15839 0.286
5 | DN 5.000 1.0000 1.7092 0.12380 0.228
2 S 1.178 m
L wear
No. H(m) Cc e0 O8I (m)
1/|UP 5.000 1.0000 2.4830 0.62569 0.898
2 | DN 5.000 0.000
3 | DN 0.000 0.000
4 | DN 5.000 1.0000 1.7699 0.25604 0.462
5| DN 5.000 1.0000 1.7092 0.20490 0.378
2 S 1.739 m

FORUMS8
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2.1.2 2
Lx = 50.000 (m)
@
P:
No. : (upP ,DN )
H (m
Y (kN/m*)
PO (kN/m?)
p
No H y . ZyH2 yH/2Z POZ
(m) (KN/m?) | (kN/m?) | (kNZm?) | (kN/mD) 1 2 3
(KN/m?) | (KN/m?) | (KN/m?)
1|UP 5.500 | 14.400 | 79.200 39.600 39.600 48.461 67.046 114.532
DN 1.500 2.300 | 82.650 1.725 80.925 46.634 56.586 101.218
2 | DN 3.000 5.200 | 98.250 7.800 90.450 45.531 53.070 96.041
3 | DN 5.000 5.200 | 124.250 | 13.000 111.250 | 43.693 48.848 89.153
4 | DN 0.000 5.200 | 124.250 | 0.000 124.250 | 0.000 0.000 0.000
5 | DN 5.000 5.200 | 150.250 | 13.000 137.250 | 41.595 45.190 90.869

FORUMS8




- 21 -

@) e
el — el
= — v H e e e e ( c0 > cl)
1+ eo
e0 PO qO
el PO+ P
upP
DN
1
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1]UP 5.500 2.4803 .3140 0.1663 0.0478 0.263
DN 1.500 4.1794 .4488 0.7306 0.1411 0.212
2 | DN 3.000 0.000
3 | DN 5.000 1.058
4 | DN 0.000 1.7374 L7374 0.000
5 | DN 5.000 1.7086 .6323 0.0764 0.0282 0.141
>SS 1.673 m
2
el — el
No. H(m) e0 el e0-el 1 + eo m
1/|UP 5.500 2.4803 .1907 0.2896 0.0832 0.458
DN 1.500 4.1794 .3404 0.8389 0.1620 0.243
2 | DN 3.000 0.000
3 | DN 5.000 1.103
4 | DN 0.000 1.7374 .7374 0.000
5| DN 5.000 1.7086 .6265 0.0821 0.0303 0.152
2SS 1.956 m
3
e0 — el
No. H(m) e0 el e0-el 1 + eo (m
1]UP 5.500 2.4803 .1376 0.3427 0.0985 0.542
DN 1.500 4.1794 .9349 1.2445 0.2403 0.360
2 | DN 3.000 0.000
3 | DN 5.000 1.845
4 | DN 0.000 1.7374 L1374 0.000
5 | DN 5.000 1.7086 .5856 0.1230 0.0454 0.227
zS 2.974 m

FORUMS8
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3)mv
S=nmv (PO+ P-P") H
mv P* + P*/ 2 AP PO AP P
p* PO g0
upP
DN
1
No. H(m) mv(m*”/kN) PO+A P-P* (kN/m*) (m
1|UP 5.500 0.00085 48.461 0.227
DN 1.500 0.00173 46.634 0.121
2 | DN 3.000 0.000
3 | DN 5.000 1.058
4 | DN 0.000 0.00072 0.000 0.000
5|DN 5.000 0.00072 41.595 0.150
>S 1.556 m
2
No. H(m) mv(m’/kN) | PO+A P-P" (kN/m?) m
1|UP 5.500 0.00085 67.046 0.315
DN 1.500 0.00173 56.586 0.147
2 | DN 3.000 0.000
3 | DN 5.000 1.103
4 | DN 0.000 0.00072 0.000 0.000
5 | DN 5.000 0.00072 45.190 0.163
>SS 1.728 m
3
No. H(m) mv(m’/kN) | PO+A P-P™ (kN/m?) m
1/|UP 5.500 0.00085 114.532 0.537
DN 1.500 0.00173 101.218 0.263
2 |DN 3.000 0.000
3 | DN 5.000 1.845
4 | DN 0.000 0.00072 0.000 0.000
5|DN 5.000 0.00072 90.869 0.328
>S 2.973 m

FORUMS8




_ Ce PO + AP
1+ 0 P
P* PO qO
UP
DN
1 PO + AP
No. H(m) Cc e0 O8I (m)
1]UP 5.500 1.0000 2.4803 0.34709 0.549
DN 1.500 1.0000 4.1794 0.19763 0.057
2 | DN 3.000 0.000
3| DN 5.000 1.058
4 | DN 0.000 1.0000 1.7374 0.00000 0.000
5| DN 5.000 1.0000 1.7086 0.11496 0.212
2 S 1.876 m
1 PO + AP
No. H(m) Cc e0 O80T m
1]UP 5.500 1.0000 2.4803 0.43025 0.680
DN 1.500 1.0000 4.1794 0.23026 0.067
2 | DN 3.000 0.000
3 | DN 5.000 1.103
4 | DN 0.000 1.0000 1.7374 0.00000 0.000
5 | DN 5.000 1.0000 1.7086 0.12361 0.228
2SS 2.078 m
1 PO + AP
No. H(m) Cc e0 O8I (m
1]UP 5.500 1.0000 2.4803 0.59020 0.933
DN 1.500 1.0000 4.1794 0.35233 0.102
2 | DN 3.000 0.000
3| DN 5.000 1.845
4 | DN 0.000 1.0000 1.7374 0.00000 0.000
5| DN 5.000 1.0000 1.7086 0.22065 0.407
2 S 3.287 m

FORUMS8
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®)
St = ¢t -Hi
St (m
Hi
e t:
e f
ct = ——
L+ Cpet?
e f :
Cos:
o

ef =1-Ke+Pi?)
yi= 0.16 + 0.00025 * wi
K = 0.81 — 0.00046 * wi
1
I + K+ P17
yo= 1.1 + 0.00023 * wi

¢f =

Kie = 1570 + wi”’

i)

(ERUEZ)

6 =0.82 + 0.23 - logiePi — 0.00025 - wi

= ©

kgf/cm?

wi =w0- ——— 100

w0

HO : cm
y d

94.1
Wn + 48.1

yd =

Wn

£t =0.9 ¢+ C,. 'log(—

)

ts
CaE
ts :

ts = (9-Cp)7F

upP
DN

cm

kN/m?

(ZRIES)

FORUMS8
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1
Hn W AP
No. m C) | wm 5 Cor
3 | DN 5.000 300 43.6934 0.6623 5.271
1
No. ts( ) Cae (m)
3| DN 339 0.04885 3000 1.058
2
Hn w AP
No. m ( ) (kN/mz) 5 CPf
3| DN 4.265 | 246 5.1550 0.4624 15.849
2
No. ts( ) Cee (m)
3|DN| 45583 0.02061 3000 0.046
3
Hn w AP
No. m C) | wm 5 Cor
3| DN 4.153 | 237 40.3043 0.6699 3.764
3
No. ts( ) Cae (m)
3| DN 192 0.04221 3000 0.742

2SS

S

2SS

1.058 m

0.046 m

0.742 m

FORUMS8
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2.2
2.2.1
1
0 4 —
2 _
(m) (1) @)
—_— JANGY? S
""""""""""""""""""" Mv ¥
**************** Ce 1=
2
Y —
2 _
(m) (1) @)
—_— JANCY? S
""""""""""""""""""" Mv ¥
**************** Ce 1=

FORUMS8
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3
0 4 — =
2 _
(m) (1) @)
—_— JANGY? S
""""""""""""""""""" Mv ¥
**************** Ce 1=

FORUMS8
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3
2
Lx = 50.000 (m)
e
3.1 Cv
PO (kN/m?)
: (kN/m?)
P P XE+AP)
(KN/m?) (A P":PO+A P-P*,P":PO q0
Cv m7 )
UP
DN
1
POCKN/T?) | P(KN/m?) | P(KN/m?) | Cv(mi/ )
UP | 39.600 48.461 59.053 0.008640
DN | 80.925 46.634 101.601 0.004320
DN | 124.250 0.000 124.250 0.017190
DN | 137.250 41.595 156.673 0.017190
2
POCKN/TY) | P(KN/m?) | PCKN/MD) | Cv@mi/ )
UP | 39.600 67.046 64.986 0.008640
DN | 80.925 56.586 105.490 0.004320
DN | 124.250 0.000 124.250 0.017190
DN | 137.250 45.190 158.240 0.017190
3
POCKN/TY) | P(KN/m?) | P(KN/m?D) | Cv(mi/ )
UP | 39.600 114.532 78.126 0.008640
DN | 80.925 101.218 121.408 0.004320
DN | 124.250 0.000 124.250 0.017190
DN | 137.250 90.869 176.944 0.017190
Cv
cv(m?/ )
1 2 3 4
i 0.004320 0.004320 0.004320
il 0.017190 0.017190 0.017190

FORUMS8
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3.2

D
D(m)
1 2 3 4 5
i 2.695 2.695 2.695
ii 2.500 2.500 2.500
2
RS t = — « Tv
Cv
D : (m)
Cv : m/ )
U
Tv :
t )
S (m
CT1: 0 CT2: 0 CT3: 0
LT1: 100 LT2: 200
1
U 0.1 0.2 0.3 0.4 0.5 .6 7 0.8 0.9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 0.197 .287 403 | 0.567 | 0.848 | ——
t( ) 13 52 119 212 331 482 677 953 1425 | ———
S(m) 0.047 | 0.095 | 0.142 | 0.190 | 0.237 .285 .332 | 0.380 | 0.427 | 0.474
U 0.1 0.2 0.3 0.4 0.5 .6 7 0.8 0.9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 0.197 .287 403 | 0.567 | 0.848 | ———
t( ) 3 11 26 46 72 104 147 206 308 | —
S(m) 0.014 | 0.028 | 0.042 | 0.056 | 0.070 .085 .099 | 0.113 | 0.127 | 0.141
i
t( ) 3 11 26 46 72 104 147 206 308 | ——
S(m) 0.255 | 0.446 | 0.570 | 0.647 0.700 .739 769 | 0.795 | 0.821 1.058
2
U 0.1 0.2 0.3 0.4 0.5 .6 7 0.8 0.9 1.0
Tv 0.008 | 0.031| 0.071| 0.126 0.197 .287 403 | 0.567 | 0.848 | ——
t( ) 113 152 219 312 431 582 777 1053 1525 | ———
S(m) 0.023 | 0.045| 0.068 | 0.090 | 0.113 .136 .158 | 0.181 | 0.204 | 0.226

FORUMS8
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U 0.1 .2 .3 0.4 .5 .6 .7 0.8 0.9 1.0
Tv 0.008 .031 .071 | 0.126 .197 .287 .403 | 0.567 | 0.848 | —
t( ) 103 111 126 146 172 204 247 306 408 | —
S(m) 0.001 .002 .003 | 0.004 .005 .006 .007 | 0.008 | 0.010 | 0.011
i
t( ) 103 111 126 146 172 204 247 306 408 | —
S(m) 0.744 .755 .770 | 0.786 .802 .817 .832 | 0.848 | 0.876 | 1.103
3
i
U 0.1 .2 .3 0.4 .5 .6 .7 0.8 0.9 1.0
Tv 0.008 .031 .071 | 0.126 .197 .287 .403 | 0.567 | 0.848 | —
t( ) 313 352 419 512 631 782 977 1253 1725 | ——
S(m) 0.020 .040 .060 | 0.081 .101 121 .141| 0.161 | 0.181 | 0.201
ii
U 0.1 .2 .3 0.4 .5 .6 .7 0.8 0.9 1.0
Tv 0.008 .031 .071 | 0.126 .197 .287 .403 | 0.567 | 0.848 | —
t( ) 303 311 326 346 372 404 447 506 608 | —
S(m) 0.008 .015 .023 | 0.030 .038 .045 .053 | 0.060 | 0.068 | 0.075
i
t( ) 303 311 326 346 372 404 447 506 608 | —
S(m) 1.059 -194 2273 | 1.323 .360 -390 417 | 1.447 | 1.499 | 1.845

FORUMS8
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3.3

% H E

==
—
iy

v i &

JEF R ¢ [H]

9 200 400 600 890 IOPO IZPO 14PO 16PO ISPO ZOPO ZZPO

i1

ei
(m)
Sg = 2.974 m

FORUMS8
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3.4

% H E

==
—
iy

= M B H

JEF R ¢ [H]

(I) 200 400 600 8?0 IOIOO 12|OO 14IOO 16IOO 18|OO ZOIOO 22|OO

FORUMS8
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